Bl RD KSR INSEVEIENE

T A B L E Please read these instructions carefully
before commencing assembly

Contents P
i . i
/\ ® ° ® [ ]
°.° 4 x Table
1 x Roof Assembly ° Support Blocks
LA 4 Base Aand B
2 x Roof Supports / 2 Holes
4xlLegs
1 x Table Assembly -
. ; 1 x Centre Pole
Note: You will require a cross amwe 9 x Wood Screws - 50mm
head screw driver for assembly awue® 20 x Wood Screws - 35mm

Step 1 Step 5
Place the base (A) onto the bottom Enjoy your new ready to

of the centre pole, making sure use bird table.
thatitis positioned centrally.

]A

| —1
Using 2 x 50mm screws fix firmly EE
through the pre-drilled holes.
Repeat the procedure by inverting
the base (B) and positioning into B
the slot on base (A) to form a cross.
Fix with 2 x 50mm screws through EE,
the pre-drilled holes.

Step 2 / .' A

Using the 4 x 35mm screws,
fix the 4 legs to the
centre pole.

(SR e

Repeat using the

4 x 50mm to fix the
other end of the legs
to the base.

[r—
pr—

Step 3 E
Place the table unit onto the E

centre pole making sure that | ] )
itis positioned centrally.
Using 1 x 50mm screw fix
firmly in place. Fix the 4
table supports in place on
the centre pole and table
unit using 8 x35mm screws.

Fix the 2 roof supports onto L
the roof unit with 4 x 35mm - ﬁ

screws taking care that they
are positioned centrally. The Hutch Company

Finally, fix the complete roof This product is British made from traditional material
unit onto the table from from sustanable timber resources. Wood preservative
beneath using 4 x 35mm [ 1 application is water based and to plant and animal
screws. L . life.

For our HELPLINE cal 01843 821888



